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Intersection

D = Angle of intersection
0 = Inclination of a right circular cone
R = Radius of bend .
n =2 (number of deflections) __sn2r
D, = Inside diameter of large pipe Ccos2p +C0SH

D, = Inside diameter of small pipe 2 _ _ A(sne)
=2 1 C0S2p +C0S B
n
ine 2 Dy Z,= __ mnfsin)
sine = 2(n-2)R(tan p) cOs2p +C0sh
D Y= _ Ixsin®)
=z X cosp
~Dn T = Rtan 4.
h=—5" 5

r,=r,—(x-1)R(tan p)isin B)
D D, —2(x-1) R (tan p){(sing)
X
cos 0

where x = number of divisions from
P.C. to point under consideration.




